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QUESTION 1

Your organization is adopting DevOps principles to deliver innovation rapidly. Which three methods support this
approach? (Choose three.) 

A. Automate processes as much as possible. 

B. Plan to reduce the blast radius of failures. 

C. Implement version control for code changes. 

D. Implement daily stand-up meetings for all team members. 

E. Allow more people within the organization to approve changes. 

Correct Answer: ABE 

 

QUESTION 2

You are researching different automation frameworks. One of the main features that you are seeking is the ability to
provide an end state of what a particular environment should look like versus needing to define each step that is
required to get to the end state. 

In this scenario, which keyword should you be looking for as you research various automation frameworks? 

A. RESTful 

B. declarative 

C. interrogative 

D. imperative 

Correct Answer: D 

 

QUESTION 3

You have an AFF A400 system with NetApp ONTAP 9.8 installed. You want to configure the NetApp Cloud Tiering
service to tier data to AWS object storage. The communication between your cluster and the AWS cloud needs to be
encrypted. You have installed the FabricPool license, but your ONTAP cluster cannot reach the S3 bucket. 

Which two configurations are causing the error? (Choose two.) 

A. You have not configured the TLS encryption. 

B. You have not configured your firewall to allow outbound traffic on port 443. 

C. You have not configured a LIF with a public IP address. 

D. You have not configured a LIF with the intercluster role. 
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Correct Answer: CD 

 

QUESTION 4

During software development, a team creates use cases, class diagrams, Unified Modeling Language models, software
architecture documents, requirements documents, and design documents. Collectively, in this scenario, what are these
tangible by-products called? 

A. application programming interface 

B. software development kits 

C. build tools 

D. artifacts 

Correct Answer: B 

 

QUESTION 5

Which two definitions are true about data protection under Astra Control? (Choose two.) 

A. A backup is stored in an object store in the cloud. 

B. A snapshot is a point-in-time copy of an application that is stored on the same provisioned volume as the application. 

C. A snapshot is stored in an object store in the cloud. 

D. A backup is a point-in-time copy of an application that is stored on the same provisioned volume as the application. 

Correct Answer: A 

Latest NS0-403 Dumps NS0-403 Practice Test NS0-403 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest NS0-403 Dumps | NS0-403 Practice Test | NS0-403 Exam Questions                                3 / 3

https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html
http://www.tcpdf.org
https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html
https://www.geekcert.com/ns0-403.html

